Human Development:  Geriatric

1. All of the following may ease the transition into old age except:

A. A search for new external supports

B. Experiments with new methods of self evaluation

C. Psychotherapy

D. Early retirement

E. All of the above will help

2. According to our reading, which of the following remains the most common threat to the sense of integrity of older persons?

A. Death

B. Illness

C. Retirement

D. Isolation

E. Dementia

3. Since depression in the elderly is often associated with memory loss, it may mimic which of the following?

A. Schizophrenia

B. Pseudodementia

C. Alzheimer's

D. A and C

E. B and C

4. The most common threat(s) to the sense of integrity of older persons is/are:

A. Intellectualization

B. Illness

C. Isolation

D. A and B

E. B and C

5. Which of Erikson's Psychological stages of the life cycle correlates with old age?

A. Identity vs. Role confusion

B. Identity vs. Total confusion

C. Autonomy vs. Shame

D. Integrity vs. Despair

E. Continence vs. Incontinence

6. The major "battle" between integrity vs. despair is often fought in which of the following areas?

A. Retirement

B. Major illnesses

C. Passing traditions and cultural values to the young

D. Keeping track of the remote control

7. Which is the most common threat to the sense of integrity of older persons?

A. Physical changes in their body

B. Memory loss

C. Isolation

D. Lower income

E. Grandchildren

8. Measures a family can take to support a family member suffering from dementia include all of the following EXCEPT:

A. Variety in their daily schedule

B. Family photographs on the wall

C. Frequent visits by friends and family

D. Use of a nightlight

E. Providing updates on current events

9. Which one of the following is false regarding geriatric persons?

A. They are a vital link to past traditions

B. The older age transition usually doesn't require construction of new social networks

C. Religion is used as a coping mechanism to shield depression in some elderly persons

D. Not all people succeed in the transition into older age

10. Which of the following is the most common threat to the sense of integrity in the elderly?

A. Loss of sensory acuity

B. Illness

C. Isolation

D. Dementia

11. What is the most common psychiatric disorder in the elderly?

A. Schizophrenia

B. Depression

C. Senility

D. "Brain shrinking"

12. All of the following are associated with cognitive deficits in the elderly EXCEPT:

A. Microstrokes

B. Alzheimer's

C. Natural aging of the brain

D. Alcoholism

13. A major task of old age is to:

A. Find beach property

B. Enhance and maintain a sense of inner emotional integrity

C. Find other hobbies because of decreased libido

D. Find young houseboy or mistress

14. The most common threat to integrity of older people is:

A. Depression

B. Declining health

C. Isolation

D. Individual's needs/desires are not met because of increased dependence on others

15. Which of the following is a major task of old age?

A. To enhance and maintain a sense of inner emotional integrity

B. To gain acceptance among friends and family

C. To lower their sexual desires

D. To remain intelligent

16. What is the most common threat to the sense of integrity of older persons?

A. Isolation

B. Separation

C. Neglect

D. Violence

17. Mr. Li, a 78 year old Asian male, has been taken to the doctor by his son.  He lost his wife a year ago and since that time he has experienced memory loss.  His son is afraid that Mr. Li is coming down with Alzheimer's disease.  Which is the most likely prognosis for Mr. Li?

A. Good, because he most likely has Alzheimer's which can be effectively treated

B. Bad, because he most likely has Alzheimer's which cannot be treated effectively

C. Good, because he most likely has depression which can be effectively treated

D. Bad, because he most likely has depression which cannot be treated effectively

18. Which is NOT a common disorder of aging?

A. Heart disease

B. Kidney disease

C. Poor sleep

D. Schizophrenia

Answers:

1. D


2. D

3. E

4. E

5. D

6. B

7. C

8. A

9. B

10. C

11. B

12. C

13. B

14. C

15. A

16. A

17. C

18. D

Medical Sociology:  Diversity in Medical Practices

1. Many or most of the white students in the U.S. think that:

A. Racism does affect them because they are white

B. Racism doesn't affect them because they are white

C. Racism does affect them because they are not people of color

D. Racism doesn't affect them because they are people of color

2. Ethnocentrism refers to:

A. A process that is used to teach and reinforce cultural rules to members within a culture

B. The primary tool of socialization 

C. The tendency of members of a particular cultural group to view their own cultural orientation as the only legitimate perspective in reality

D. An attempt to force others to give up their own cultural norms and adopt another set of norms

3. Which is not considered a "skin colored privilege" according to Peggy McIntosh?

A. Television and newsprint represent the privileged race thoroughly

B. Can stay in the company of same race most of the time

C. Won't be harassed when shopping alone

D. Lower rate of communicable disease

E. Can be assured of renting in an area that is affordable and desirable to live in

4. Racism is mostly individual acts of meanness.

A. True

B. False

5. The tendency to see your own cultural orientation as the only legitimate perspective on reality is referred to as:

A. Cognitive dissonance

B. Proselytizing

C. Multiculturalism

D. Ethnocentrism

6. A family of three moves from inner New York City to the bustling town of Ayden.  The father goes to the new family physician in town complaining of a lack of both mental and physical energy.  He frequently mentions differences in customs between NC and New York City, and expresses a feeling or alienation in his new community.  Which of the following is the most likely reason he's feeling this way?

A. Change in diet

B. Culture shock

C. Difference in climate

D. Jet lag

7. A white physician's misunderstanding and view of an African American patient's cultural beliefs as "wrong" would be an example of which of the following?

A. Multicultural intolerance

B. Personal opinion

C. Metacommunication

D. Ethnocentrism

E. Interpersonal communication

8. The tendency of individuals to change their cultural beliefs  or behavior to avoid feeling uncomfortable in a particular setting is an example of:

A. Cultural homeostasis

B. Cognitive dissonance

C. Culture stress

D. Self actualization

E. Societal communication

9. According to the "Iceberg Model"  which of the following multicultural influences is not readily apparent?

A. Age

B. Nationality

C. Gender

D. Political Orientation

E. Race

10. Which would not be considered a culture?

A. California hippie commune

B. AIDS patients

C. McDonald's drive thru team -i.e. people who work at the same job

D. New Yorkers

E. People in the sticks of Louisiana

11. According to Moslow's hierarchy of needs, which one is the most basic of all needs?

A. Self-actualization needs

B. Esteem needs

C. Survival needs

D. Safety needs

E. Affiliation needs

12. The most basic level of human communication is:

A. Intrapersonal level

B. Interpersonal level

C. Group level

D. Organizational level

E. Societal level

13. The Respect Model for encouraging appropriate sociological behavior toward culturally diverse patients includes all of the following except:

A. Gain a rapport with the patient so as to connect on a social level

B. Exercise empathy by verbally acknowledging and legitimizing the patient's feelings

C. Support the patient by reassuring them that you are and will be available to help

D. Do not study their culture so as to prevent stereotyping

14. Barriers to cross cultural communication include all of the following except:

A. Perceptions and Stereotypes

B. Authoritative figures and gender roles

C. Role of family

D. Language barrier

E. Mutual respect

Answers:

1. D

2. C

3. D

4. B

5. D

6. B

7. D

8. B

9. D

10. C

11. C

12. A

13. D

14. E

Medical Anthropology:  Culture, Ethnicity, and the Practice of Medicine

1. All societies have ethnomedical systems that include:

A. A theory of etiology of illness

B. Techniques for the diagnosis of illness

C. Methods for appropriate therapy

D. All of the above

2.  In the materialist model of culture:

A. The material foundation of a cultural system is the economic mode of production, including technology and the population size

B. A change in one layer of the materialist model will only affect one other layer

C. Ideology includes kinship and marriage practices, politics, and status differentiation

D. Most people within a society tend to explain things from the view of their society's technology and economics

3.   Which of the following statements regarding culture and/or disease is TRUE?

A. Personality development of individuals is independent of society or culture.

B. One can have an illness without having disease, but one cannot have a disease without having illness.

C. Disease is randomly distributed among societies and cultures.

D. Cultural beliefs and values are largely unconscious factors in the motivation of individual behaviors.

E. All members of an ethnic group share the exact same cultural standards.

4. A doctor who is trying to use the LEARN method of cross-cultural communication with one of his patients can’t understand why the patient is noncompliant.  The patient came into his office, the doctor listened to her description of her illness, he told her what he thought might be the problem, they discussed the differences in their opinions, he wrote her a prescription and then sent her on her way.  Which step of the LEARN method did the physician ignore?

A. Listening with sympathy and understanding

B. Explaining his perception of the problem

C. Acknowledging and discussing similarities and differences in their perceptions

D. Recommending a treatment

E. Negotiating an agreement about treatment

Pick which of the following group most fits the statement

A. Asian-Americans

B. African-Americans

C. Native Americans

D. Anglo-Americans

5. Has a higher risk for stomach or liver cancer

6. The distinction between physical and mental illness may be blurred; engaging in witchcraft or forbidden behavior, for example, may result in illness

7. Have high rates of hypertension, heart disease, obesity, and asthma

8. Teenagers are most likely to die of an accident

9. In all Hispanic groups, research in folk medicine has shown that:

A. Acupuncture is used to balance organ systems

B. Illness can be caused by hexes

C. Both natural and supernatural cases of illness are present

D. Changes in diet and weight loss are considered ineffective

10. The "A" in the LEARN model stands for

A. Adding the physicians viewpoint

B. Adding the patient's beliefs and ideas about their illness

C. Acknowledging the difference and similarities so they can be discussed

D. Acknowledging any prior treatment plan so it can be evaluated

11.  Which of the following statements regarding illness is/are correct?

A. Illness is subjective

B. Illness does not always coexist with disease

C. Illness is perceived differently across cultures

D. Both A and C are correct

12.  Which of the following statements regarding ethnicity is/are correct?

A. It is inherited at birth

B. May be put on others by outside factors (i.e. language)

C. People from the same ethnic background possess the same culture

D. Both A and B are correct

13. All of the following may be features of the Latino philosophical premises about health and curing EXCEPT:

A. The natural world cannot be distinguished from the supernatural

B. Patients can be the innocent victims of malevolent forces

C. Root doctors are often consulted for healing remedies

D. The body and soul are inseparable

E. Sickness of a member can bring a family closer

14. An explanatory model for disease is which of the following?

A. An individual's personal interpretation of disease

B. Irrelevant to the patient's disease state

C. Invariant from culture to culture

D. A defense mechanism often employed by noncompliant patients

15. People that use their own arbitrary beliefs and values to judge people from other cultures are:

A. Egocentric

B. Closed-minded

C. Traditionalists

D. Ethnocentric

E. Capitalists

16. Which of the following influences an individual's health related behavior?

A. Ethnicity

B. Social Class

C. Occupation

D. Gender

E. All of the above

17. The materialistic model indicates that the direction of a causal change is from the (top down/bottom up); most people within a society explain things from the (top down/bottom up).

A. Top down/top down

B. Top down/bottom up

C. Bottom up/top down

D. Bottom up /bottom up

18. Which of the following is false?

A. Culture does not influence the risk of getting a certain disease

B. What an individual believes constitutes a mental illness may be culturally determined

C. Personality of an adult may be influenced by the culture in which she or he spent their childhood

D. How an individual explains illness may be related to their beliefs

E. Medicine in industrialized nations has its own culture

19. A hot/cold theory of disease exists for some cultures.

A. True

B. False

20. The concept of race is biologically valid and based on genetics.

A. True

B. False

Answers:

1. D

2. A

3. D

4. E

5. A

6. C

7. B

8. D

9. C

10. C

11. D

12. D

13. C

14. A

15. D

16. E

17. C

18. A

19. A

20. B

Psychophysiology and Psychoneuroimmunology

1. Which of the following personality characteristics of a Type A individual is least strongly correlated with vulnerability to coronary artery disease?

A. Hostility

B. Striving for achievement

C. Cynicism

D. Antagonistic relationships

2. Which of the following best exemplifies palliation, a type of coping mechanism:

A. Preparing to meet danger

B. Fleeing from danger

C. Drinking excessive alcohol

D. Attempting to demolish the harmful agent

3. A collaborative relationship can be defined as:

A. A partnership between two physicians

B. A relationship between husband and wife

C. A partnership between physician and patient

D. A relationship between a medical student and professor

E. A relationship between two medical students

4. Which of the following is not associated with hopelessness?

A. Health complications

B. Poor treatment outcomes

C. Greater tumor progression in cancer patients

D. Great morbidity and mortality from ischemic heart disease

E. Increased life expectancy for cancer patients

5. Which of the following is not a characteristic of the trophotropic system?

A. Increased reproductive function

B. Anabolic metabolism

C. Decreased skeletal muscle tone

D. Blood flow mainly to brain and muscle

6. Ricky Ruud, a 35 year old Nascar fan from Lizard Lick, has recently had a change in routine and persistent negative environmental conditions because Thelma Sue (his mother-in-law) has just moved in  and she constantly ridicules Ricky and doesn't allow him to watch his races on Sunday.  The life events that are now affecting Ricky are examples of:

A. Stressors

B. Psychological state of stress

C. Stress responses

7. All of the following statement about psychological stress are true except:

A. Stressors can be perceived positively or negatively by one's "coping" mechanisms

B. The best way to cope with stress is to calm yourself by smoking a pack of unfiltered Pall Mall cigarettes and drinking yourself into a peaceful unconscious state

C. A strong social support network is an effective buffer against the effects of stress

D. Stressful events are correlated with increased risk of becoming ill

8. Which of the following life events is typically considered the most stressful?

A. Christmas

B. Vacation

C. Marital Reconciliation

D. Death of a spouse

9. Stress can NOT be defined as:

A. An aversive stimulus event

B. A special transaction between the person and environment

C. The persistence of positive or negative environmental conditions

D. A specific physiological or psychological response

10. Which of the following is NOT a mediating factor for identifying a stressor?

A. Cognitive appraisal

B. Genetic vulnerability

C. Resilience

D. Coping mechanisms

E. Social support

11. The final response to stress can be mediated by several factors EXCEPT:

A. Perception or cognitive appraisal of events

B. Coping or defense mechanisms

C. Social support systems

D. Experience

E. Genetic vulnerability

12. According to the social readjustment scale, the life event with the most life change units is:

A. Divorce

B. Death of a spouse

C. Marriage

D. Sex difference

E. Death of a close friend

Answers:

1. B

2. C

3. C

4. E

5. D

6. A

7. B

8. D

9. C

10. C

11. D

12. B

Family Violence
1. How much more likely are boys who witness violence by their fathers to become abusive to their partners than boys who were not exposed to marital violence?

A. 10%

B. 100%

C. 1,000%

D. 10,000%

2. Which of the following is not a method used by traumatized people to regain control over their deficient capacity for emotional regulation?

A. Numbing of responsiveness to the environment

B. Excessive giving of time to other and charitable causes

C. Unusual sexual practices

D. Bingeing and purging

3. According to Human Behavior, the greatest single cause of injury to women in the U.S. is:

A. Car accidents

B. Muggings

C. Battery

D. Rape

E. The plague

4. Which of the following symptoms is characteristic of posttraumatic stress disorder?

A. An involuntary repetitive reliving of trauma in thoughts, images, or action

B. Hyperarousal

C. Loss of capacity to engage in love and work with pleasure and zest

D. Sudden uncontrollable urge to watch reruns of Gilligan's Island
E. Only A, B & C

5. The single greatest cause of injury to women in the U.S. is :

A. Rape by a stranger

B. Rape by someone they know

C. Battery

D. Muggings

E. Car accidents

6.  Probable effects of developmental trauma (Complex PTSD) include all of the following EXCEPT:

A. Aggression against others

B. Impulsive and risk-taking behaviors

C. Amnesia

D. Chronic guilt and shame

E. Increased left hemisphere function

7. Which of the following are considered "transitional" periods in marriage that may cause a crisis?

A. Childbirth

B. Parenting

C. Empty nest syndrome

D. All of the above

8. All of the following are included in a diagnosis of Post Traumatic Stress Disorder EXCEPT:

A. Intrusion

B. Hyperarousal

C. Avoidance

D. Numbing

E. Acting out

9. Which is the most common psychiatric diagnosis, affecting 10% of our population?

A. Narcolepsy

B. Dementia

C. Eating disorders

D. Post traumatic stress disorder

E. Narcissistic personalities

10. A child who has been traumatized may become:

A. Shy and withdrawn

B. A bully who frightens others

C. Neither

D. Both A and B

11. Persons who have been traumatized often find themselves in similar relationships because:

A. It arouses them

B. It is the only type of relationship they know and can function in

C. They can't do any better for themselves

D. They are unaware of the traumatic origins that directed them towards a similar relationship

12. Which of the following is not considered a common effect of developmental trauma in children?

A. Difficulty regulating emotional arousal

B. Aggression towards others

C. Maintenance of positive self image

D. Inability to trust others

E. Feelings of guilt, shame, or self-blame

13. Abused children can generally be associated with all of the following except:

A. Usually under 12 years of age

B. Perceived as special or difficult by parents

C. Fail to match parental expectations

D. Disruptions of bonding behavior with parents

E. Strong family support network

14. Which of the following was NOT given as an alteration in regulating emotional arousal as a result of developmental trauma?

A. Chronic emotional dysregulation

B. Decreased aggression against others

C. Self-destructive and suicidal behavior

D. Difficulty modulating sexual involvement

E. Impulsive and risk taking behaviors

15. Which of the following is NOT a characteristic of PTSD?

A. Inability to calm oneself

B. Loss of capacity to engage in love and work with pleasure

C. Repetitive reliving of the trauma in thoughts, images, or actions

D. Increased ability to take pleasure in ordinary events

Answer:

1. C

2. B

3. C

4. E

5. C

6. E

7. D

8. E

9. D

10. D

11. D

12. C

13. E

14. B

15. D

Genetics of Personality and Psychiatric Illness

1.  The adoptees family method:

A. Is concerned with adopted away children of affected parents

B. Compares adoptees whose adoptive parents are normal but who have an affected biological parent

C.  Compares risk for a condition among biological and adoptive parents

D.  Can indicate either genetic or rearing influences as etiology

E.   Both C and D

2.  Recurrence risk is NOT increased by:

A.  Number of affected individuals

B.  A distant cousin having the defect

C.  Severity of the defect

D.  Consanguinity

3. One of your patients is concerned about schizophrenia.  Just a month ago their brother (who is not his twin) was diagnosed with the disease.  Your patient wants to know their relative risk of developing the disease.  You answer:

A.  25%

B.  16%

C.  11%

D.  8%

E.  3%

4.  All of the following increase the recurrence risk of a disease EXCEPT:

A.  Having a severe form of the disease

B.  Multiple family members are affected

C.  Distantly related to affected family members

D.  Consanguinity

E.  The more rarely affected sex is affected

5.  Recurrence risk is increased by all of the following EXCEPT:

A.  Consanguinity

B.  When the less likely sex is affected

C.  A high number of affected individuals

D.  A defect that is not severe

E.  Having several first degree relatives with the disorder

6. Which of the following is true regarding the relationship between genes and the environment?

A. The environment can play and important role in the pathway from genotype to phenotype

B. The environment modifies expression of genetic makeup at all levels

C. The contribution of the environment to phenotype in behavioral disorders is made evident by incomplete concordance in monozygotic twins

D.  All of the above

7.  Which of the following disorders involves a genetic component of transmission?

A.  Schizophrenia

B.  Bipolar disorder

C.  Major depression

D.  All of the above

8.  What is the name of the effort currently underway to map every gene in the human body?

A.  The Manhattan Project

B.  The Blair Witch Project

C.  Project Decode

D.  The Human Genome Project

Answers:

1. E

2. B

3. C

4. C

5. D

6. D

7. D

8. D

Neuropsychiatry:  Neurochemistry

1. The major neurotransmitter involved in the action of fluoxetine (Prozac) is:

A. Dopamine

B. Norepinephrine

C. GABA

D. Serotonin

E. Acetylcholine

2. An injury to which area of the brain is most likely to result in depression?

A. Reticular system

B. Thalamus

C. Temporal lobe

D. Frontal lobe

E. Limbic system

3. A patient comes to your office and is clinically diagnosed with Parkinson's disease.  Which neurotransmitter would be most effective in treating this patient?

A. Norepinephrine

B. Serotonin

C. Dopamine

Match the following psychiatric conditions with their associated neurotransmitters:

A. Acetylcholine

B. Dopamine

C. GABA

4. Alzheimer's disease

5. Anxiety

6. Schizophrenia

7. Which of the following is not a criteria for a neurotransmitter?

A. Neurons contain the substance

B. Neurons synthesize the substance

C. The substance is physiologically active on neurons

D. The postsynaptic physiological response to the substance is identical to that of the neurotransmitter released by neurons

E. Neurons release the substance upon hyperpolarization

8. The D3 dopamine receptor is involved in:

A. Excitation

B. Inhibition

C. Autoregulation

D. Sexual stimulation

9. Which of the following hormones is most closely linked to the psychotic symptoms of schizophrenia?

A. Epinephrine

B. Norepinephrine

C. Dopamine

D. ACTH

E. Testosterone

10. Which of the following can serve as an inhibitory neuropeptide?

A. Dopamine

B. GABA

C. Serotonin

D. ACTH

E. All of the above

11. Which of the following is/are criteria for linking a neurotransmitter to a behavior?

A. A characteristic pattern of transmitter release should occur in relation to the behavior

B. Elicitation of the characteristic transmitter release pattern should evoke the behavior

C. Destruction of the involved neuronal system should both deplete the transmitter and abolish normal control of that behavior

D. Increases or decreases in transmitter activity should have opposing behavioral effects

E. All of the above

12. All of the following are considered "classic" neurotransmitters EXCEPT:

A. Norepinephrine

B. Serotonin

C. Dopamine

D. Acetylcholine

E. Lithium

Answers:

1. D

2. D

3. C

4. A

5. C

6. B

7. E

8. C

9. C

10. E

11. E

12. E

Neuropsychiatry:  Brain Imaging

1. Which of the following Association Cortices is correctly matched with its function?

A. Limbic - Emotional behavior, including aggression

B. Prefrontal - Planning

C. Parietal-Temporal-Occipital - Understanding the meaning of words and syntax

D. All are correctly matched

E. A and B are correctly matched

2. Which of the following is NOT an advantage of MRI over CT?

A. Better visualization of bone and calcified lesions

B. No exposure to ionizing radiation

C. Better delineation of gray matter and white matter

D. More accurate volumetric measurements

E. Greater resolution of small structures

3. Which lobe of the brain is involved in the acquisition and retention of long-term memory?

A. Parietal

B. Occipital

C. Temporal

D. Insula

E. Frontal

4. Which brain system is involved in establishing and maintaining focused attention on significant stimuli?

A. Limbic

B. Hypothalamus

C. Basal ganglia

D. Reticular Activating System

E. Association cortices

5. Damage to the parietal-temporal-occipital association cortex can produce severe distortions in __________________ and perception of spatial relationships.

A. Memory

B. Body image

C. Speech

D. Gait

6. The temporal portion of the limbic association cortex is involved in the acquisition and retention of:

A. Short term memory

B. Obsolete memory

C. Long term memory

D. Spatial relationships

7. A sleep-arousal defect is most likely due to a lesion in which of the following areas?

A. Occipital lobe

B. Thalamus

C. Basal ganglia

D. Reticular system

8. You patient, MP, a 25 year old white male has been self-referred to your clinic because of an inappropriate acute increase in sexual activity.  If this behavior is a consequence of a brain lesion, the lesion is most likely located in which of the following areas?

A. Cerebellum

B. Hypothalamus

C. Amygdala

D. Frontal lobe

9. Which of the following imaging tests could you order to help confirm diagnosis of dementia?

A. EEG

B. PET

C. SPECT

D. All of the above

10. A paranoid schizophrenic with sever claustrophobia has been referred to your radiology lab for extensive testing of a possible brain lesion/abnormality.  Which of the following tests would be most contraindicated given the current medical problems of this alert patient?

A. CT

B. MRI

C. PET

D. EEG

E. All of the above

11. Which of the following processes does NOT shape behavior?

A. Motivation

B. Motor performance

C. Learning

D. Affect

E. All of the above shape behavior

12. Which of the following is not usually observed in a patient with temporal lobe epilepsy (during or after the event)?

A. No memory of the event

B. Changes in mood

C. Loss of micturition control

D. Visual and olfactory hallucination

E. Automatism (smacking, chewing, swallowing)

Match the following choices with the questions below.

A. Association cortices

B. Hypothalamus

C. Reticular formation

D. Basal ganglia

E. Limbic system

13. Regulates behavioral arousal and controls levels of awareness

14. Regulates internal environment and coordinates systems that maintain homeostasis

15. Thought to control and process emotional inputs

16. Integrates multimodal sensory information and executes higher functions

17. Involved in purposeful movement

For each of the following patients choose to order and MRI or CT based on the advantages/disadvantages given in the syllabus.

A. MRI

B. CT

18. Pregnant woman

19. Claustrophobic man

20. Man with shrapnel in old war wound

21. Patient with very small lesion in brain

Answers:

1. D

2. A

3. C

4. D

5. B

6. C

7. D

8. C

9. D

10. B

11. E

12. C

13. C

14. B

15. E

16. A

17. D

18. A

19. B

20. B

21. A

Questions from 4/28 and 5/1

1. Which of the following types of long term memory depends upon the hippocampus, is impaired in amnesiacs, and involved retention of information about personal experiences?

A. Procedural

B. Semantic

C. Episodic

D. None of the above

2. Which of the following is a simple learning process involving the enhancement of responses following a strong noxious stimuli?

A. Sensitization

B. Habituation

C. Classical conditioning

D. Interference

3. According to The Daily Reflector article, all of the following are reasons for errors by health care workers except:

A. Many drug names sound alike

B. Most health professionals are not retested for competency

C. Many physicians have a God complex

D. It is difficult to keep up with the latest treatment and technology

E. Poor handwriting

4. According to the reading, the following are issues physicians deal with after making a mistake except:

A. Errors are not admitted and discusses enough with colleagues

B. The large number of malpractice suits leave no room for mistakes

C. It is difficult to confront emotional consequences of mistakes in health care settings

D. Mistakes rarely affect a physician's emotional health

Answers:

1. C

2. A

3. C

4. D

